. Let P[at2,2at], QL—Z, t } and S[a,0] be any three points, show that LLP +L}

. Integrate I
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I. Elaborate on: (4 x 10 = 40)

1 1 1

. Find A", if A=[1 1 -1

1 -1 0

12 24 . .
S If cosa="7 and cos ,B=7 where a lies in the second quadrant and f lies in the

fourth quadrant. Find the values of: (i) cos(a + /) (ii) sin(a + B)
(iii) (i) tan (c + B).
a -2a
—-a %

1s same all values of't.
dx

X2 +5X+6

Il. Write notes on: (6 x5 =230)

i ass M . B= b=6 150 en find 7A+5B.
6 8 17

-3 8 3

. Prove thattan? @—sin’> @ =tan” @ sin’ 6.

. Prove that (1, 2) (1, 5) and (4, 2) are the vertices of a right angled isosceles

triangle.

. Bvaluate jx3 e’ dx.
. Differentiate: (i) 2x* +3x~ +5¢*  (ii) 3* —cot x+2.

. Solve the differential equation e*dx +e**dy =0.
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